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3 58ie 2c) Alac S 4 giall canll)

ol

x 50% = 21

x90% = T1.1

x 10% = 0.6

x 70% = 60.9

x 50% = 21

x90% = 79.2

x 70% = 49.7

x70% =77

x 30% = 24.3

x 60% = 22.8
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Al

x 90% = 82.8

x90% = 24.3

x70% = 12.6

x 40% = 30

x 60% = 19.2

x 50% = 31.5

x 90% = 82.8

x 60% =204

x 60% = 50.4

x70% = 23.8
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2 5886 ac) Hac S 4 gl caill)

ol

42 x 50% = 21

79 x90% = 71.1

6 x 10% = 0.6

87 x70% = 60.9

42 x 50% = 21

88 x 90% = 79.2

71 x70% = 49.7

11 x70% = 7.7

81 x30% = 24.3

38 x 60% = 22.8

92 x90% = 82.8

27 x90% = 24.3

18 X 70% = 12.6

75 % 40% = 30

32 x60% = 19.2

63 x 50% = 31.5

92 x90% = 82.8

34 x 60% = 20.4

84 x 60% = 50.4

34 x70% = 23.8
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